BSEH Practice Paper Marking Scheme 3
Class- XII
Military Science

Time Allowed: 2 %> Hours Max. Marks: 60
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1. 9 g3 fart 2|

2. U WA 01 ¥ 15 U &, 57 06 Ig—fadbadia usH, 03 Rad o9 “R_I U9, 03 U&h

I SR D U 3R 03 ANBUT—hROT FT BT SR <1 2 | TADb YT 01 3fh Pl
=

U AT 02 ¥ 07 TP @ U ATy IO 8, §9 02 YAl # <R fddhed & |
P IR 40 F 60 G H S T | UAD U & 02 3 2 |

TS &I 08 ¥ 13 T & U oY SO &, 5 02 YAl H M<IRF fAhed & | 39
TR 60 W 80 Yl H o B | AP U B 03 AP T |

U3 AT 14 H 16 Th & Y HE=HD &, 399 4T U1 § m=iRe fadeq g |
gD SARX ST 250 Fea] H < & | UAD U B 05 3d |

General Instructions:

1-
2-

All questions are compulsory.

Question no. 01 has 15 questions, which consisting of 06 multiple choice questions, 03
fill in the blank questions, 03 one word answer type questions and 03 Assertaion-Reason
questions. Each question is of 01 mark.

Questions no. 02 to 07 are very short answer type questions, out of which 02 questions
have internal choices. These are to be answered in 40 to 60 wards. Each question carries
02 marks.

Questions no. 08 to 13 are short answer type questions, out of which 02 questions have
internal choices. These are to be answered in 60 to 80 wards. Each question carries 03
marks.

Questions no 14 to 16 are essay type questions; all the questions have internal choice.
These are to be answered in about 250 words. Each question carries 05 marks.

Q.No. | Value Points/ Answer MM
Multiple Choice Type Questions 15x1=15
1(1) IR AT FaRAT Dl T [URIFE | FT DI STl &7 1

(@) THAT & BRI

(@) TTHUdT & HRO

(1) QAT Ud SRAAIGAT B BRI

(&) $7H | BIg T

STR— () UHAT UG @Gl & BRI
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Why is the Indian military system compared to a pyramid?
(a) Due to Unity

(b) Due to similarity

(c) Due to unity and series

(d) None of these

Answer- (¢) Due to unity and series

1(2)

TRAT oI AT fbad warel # famfrg 27
() 04

(@) 05

(1) 06

=) o7

Sav— (") o7

Indian Army is divided into how many commands?
(a) 04

(b) 05

(c) 06

(d) 07

Answer- (d) 07

1(3)

R JReTT URYS HT 37edel DI Bl o7
(o) <regfa

(@) gar=H=I

WEGILEI

(&) TS GReTT e DR

ITR— (@) ga=a=0

Who is the chairman of the National Security Council?
(a) President

(b) Prime Minister

(c) Defence Minister

(d) National Security Adviser

Answer- (b) Prime Minister

1(4)

oIl WHTEdeT BT UE BIAT o—
(@) AR SRS

(@) eiftferie SR

(M) SR

(@) wies Al
|d¥— () SR
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The post of Chief of Army Staff is-
(a) Major General

(b) Lieutenant General

(c) General

(d) Field Marshal

Answer- (¢) General

1(5)

IR H AT ST $9 A9/ ST 87
(@) 03 fedaR

(@) 04 feHaR

(M) 05 faFaR

(@) o6 faHaR

Ia— (@) 04 fedgaR

When is navy day celebrated in India?
(A)03 December

(B) 04 December

(C) 05 December

(D)06 December

(E) Answer- (b) 04 December

1(6)

f=feiRad # & I AT WRA BT Wl oSl [da 82
() TARTST 2000

(@) T

(M) T 27

(&) ore

SIR— (") do™

Which of the following is India’s indigenous fighter aircraft?
(a) Mirage 2000

(b) Rafale

(c) MiG 27

(d) Tejas

Answer- (d) Tejas

1(7)

YN H A9 AT AA1ege] B B2

IR— TSRA 3Ro 8R HAR

Who is the current Chief of Naval staff in India?
Answer- Admiral R. Hari Kumar
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1(8)

FI0THOUH0 HT ol ®U felfy |
IR— dHT YREAT 9

Write the full form of BSF.
Answer- Border Security Force.

1(9)

e Bel— BPRIR dc Ugar dTell Wfdemell 3R 2 |
IT— S0THOHI0 HelR

Who said- Weapon is an instrument with striking power.
Answer- JFC Fuller

1(10)

AT BT AT Pl B ¢ |
S<R— Uelo UHO Sflo

............... is called artillery of section.
Answer- L.M.G.

1(11)

YR ¥ a8l S N1 ! H Rerd 2|
ITR— dIIYR (IShT)

The missile test range in India located in....................
Answer- Chandipura (Odisha)

1(12)

TH0 HI0 W10 DI RATTAT Y oo d g
YBTIN— 1948

The year of establishment of N.C.C.is ..................
Answer- 1948

1(13)

BT (A) — USd T DI g &3 DI I D HY H ST ST
=

HRI (R)— I8 IS T8 PR F ¥ AT WA Bl ofels a2 |
(@) 3AAHAT (A) 3R HROT (R) SH T T |

(@) AfAHT (A) 3R HRUT (R) THT 3T © |

(1) AAPAT (A) T & Wb BROT (R) 39 © |

() AMPHAT (A) A & Wfb BROT (R) T 2 |

SR— (@) AfderT (A) 3R SR (R) < 9 2
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Assertion (A)- Infantry is known as ‘Queen of the Battle field.’
Reason(R)- It fights face to face with the enemy on foot.

a) Both Assertion (A) and Reason (R) are true.

b) Both Assertion (A) and Reason (R) are false.

c) Assertion (A) is true but Reason (R) is false.

d) Assertion (A) is false but Reason (R) is true.

Answer- (a) Both Assertion (A) and Reason (R) are true.

1(14)

IADHAT (A) — IMIH T | arg 1 Sfid &I elldd AF ST 2 |
PR (R)— i I 1 J§ & SRM dF T F Fd5 HrAare!
PR H e 2|
(@) IMHAT (A) 3R BRI (R) EHT 9 & |
(@) AfIHIH (A) IR BRI (R) SFI 3N T |
(1) IFAHAT (A) I B <fhT BRI (R) 3N T |
(@) IMPHAT (A) 3N & offdhd BRI (R) I ¢ |
SR~ (P) AT (A) AR BRI (R) 14T I 2 |

Assertion (A)- In modern period, Air Force is considered a symbol of
victory.
Reason (R)- Because the Air Force is capable of taking action
everywhere at a rapid pace during war.
a. Both Assertion (A) and Reason (R) are true.
b. Both Assertion (A) and Reason (R) are false.
c. Assertion (A) is true but Reason (R) is false.
d. Assertion (A) is false but Reason (R) is true.
Answer- (a) Both Assertion (A) and Reason (R) are true.

1(15)

v (A) — g fdvayg o 9 7 9RAT] §91 &1 YA o |
BRI (R)— I GRATY] 99 U & RRIRM &R Armama oe’i o)
R T |

(@) AfAPHAT (A) 3R BRUT (R) T I 2|

(@) AfIHIH (A) IR BRI (R) SFI 3N T |

(TT) IFABAT (A) I B fhT R (R) 3N B |

(@) AMABHAT (A) NI B AfFd BRI (R) I 2 |

SR— (") AHAT (A) I 2 «fb dROT (R) G 2 |

Assertion (A)- Russia used the nuclear bombs during the Second
World War.
Reason (R)- These bombs dropped on Japanese Hiroshima and
Nagasaki cities.

a) Both Assertion (A) and Reason (R) are true.
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b) Both Assertion (A) and Reason (R) are false.

c) Assertion (A) is true but Reason (R) is false.

d) Assertion (A) is false but Reason (R) is true.
Answer- (d) Assertion (A) is false but Reason (R) is true.

Very Short Answer Type Questions

06x02=12

Uqdl |1 BT Dl &l BAAT [offgy |
W_

1. Tfcreferar & &

2. HIEATE BT AT &=

3. JAYfdl egver R FRRET arfe |

Write any two weaknesses of infantry.
Answer-

1- Lack of mobility

2- Limited scope of action

3- Dependence on supply system etc.

2

IR AT @1 gl o ugfeaat @ =M forfRay |

ITR—
JMSOTAOTHO BTy, MS0TA0UHO f3reh!, Me0U=0TH0 ITRET
JMS0TA0THO TRETT 31 |

Write the name of any four submarines of Indian Navy.

Answer-
INS Calvary, INS Shilki, INS Arihnat, INS Arighat etc.

AHEd (a7 & BIRIR B 27?
W_

1. URHIY] BORIR

2. Sifdd AR

3. RS BRRER

What are the weapons of mass destruction?
Answer-

1. Nuclear weapon

2. Biological Weapon

3. Chemical Weapon

TITIDHIT HFHT H DI Al e 8l 8?
JTR—
1. FGICR AR TS

2. AfSHa e
3. uRgeET wred
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Which platoons are there in an administrative company?
Answer-

1- Quarter Master Platoon

2- Medical Platoon

3- Transport Platoon

qRd ® BIs IR 31f A= gt & =9 forRau |
W_

d10THOUH0

H0AMS0H0THO

HT03MROUT0THO

THOUHOH0

Jmgocrodiodlo mfe |

a s~ DN~

Write the name of any four Para military forces of India.
Answer-

1- BSF

2- CISF

3- CRPF

4- SSB

5- ITBP etc.

Or
yTa¥Tes |1 D1 el bl fIlkay |
W_

1. I8 e
2. YU gfHe

Write the units of Territorial Army.
Answer-
I- Urban Unit

2- Rural Unit

THT] &1 fcfshany foriRay |
W_

1. ORA] fagued
2. URATY Hcaq

Write the reactions of atoms.
Answer-
1- Nuclear fission
2- Nuclear fusion
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Or
o I9T & Bls IR sPRR foRau |
IN—
7.62 THUY J[8%ol, ¥ T, 3 39 HcN, 3.5 39 Jbe N IS |

Write any four weapons of infantry.
Answer-
7.62 mm Rifle, Sten Gun, 3’ Motor, 3.5” Rocket Launcher etc.

Short Answer Type Questions

06x03=18

AT TS & DI A 34l DI [TRaY |
w_

1. QU P 18T MDAV I YR DRAT

2. ST DI IMIND & gl | fFoes

3. MUST & AT ARTREG UAT BT TSN HRAT M

Write any three objectives of military organization.
Answer-

1- Protecting the country from external attacks

2- Dealing with the internal security challenges

3. Assistance to civil administration during disaster etc.

3

SONTT R &) U (I forfag |
W_

1. AT B AT BT TR BRI

2. Araig<] B FaRAT HIAT

3. I DI MY HaRAT Pl AT HRAT

4. & DIRIATHD AARHT BT FHOT HRAT 3MfS

Write the main features of the corps of engineers.
Answer-

1- To arrange accommodation for the soldiers
2- To make arrangement for field blockade

3- Disrupting the enemy’s supply system

4- Making warfare maps etc.

10

IRIAAT & B1Al BT qUIA DIToTY |

W_

3G W 99 STl

gaTs GRET UG Rl

AHR® fSHHT BT e HRAT

o T A THT BT FEANT YSTH Bl

AMYST & FHI AFTRS YA BT TEANT HRAT S

a kDN~
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Describe the functions of air force.
Answer-
1- Bombing the enemy
2- Providing air defence
3- Destroying strategic bases
4- Providing support to the army and navy
5- To cooperate with the civil administration during disaster etc.

qRAT AT & fAfer= e &1 9o HifdTe |
W_

PRIBR faamT

fafecar faurT

PRI fawmT

gfreor favmT

w@mﬂﬁwﬁﬂm

Descrlbe the various departments of Indian Navy.
Answer-

1- Executive department

2- Medical department

3- Engineering department

4- Training department

5- Hydrological survey department

I N

UIGRId AT & IqaTT RIT 87

W_

1. TS AT BT [AH BRAT

2. AT BT Afhd FEIRT HRAT

3. ANR® & H AEANT HAT

4. AFRE URMES ®I FEIRT <A1

5. Fqcd @ TN BT AP BT IS
What are the objectives of Territorial Army?
Answer-

1- To develop of national consciousness
2- Actively supporting the army

3- To cooperate in civil defence

4- To support civil administration

5- Developing leadership qualities etc.

Or
I Do HR & 35y foIfRay |
W_
1. e e¥dT BT AT
2. IR DI AT Bl fddbr
3. TRF T F=A
4, TR GRET @ Ui SN UaT T M |
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Write the aims of NCC.

Answer-

1- Building leadership capability

2- Develop the sense of discipline

3- Character building+

4- Creating awareness about national security etc.

13

BERIR & BRI &HdT & FRIR® dcd {oTRdv |
W_

UER$ 9Ifdd

AR DI X

Il
BRI I HJ=T

EERIEEI
qadl Ud 31Jdeldl

2 S

Write the determinants of fire capacity of a weapon.

Answer-

1- Hitting power

2- Hitting distance

3- Accuracy

4- Volume of fire

5- Affordability

6- Persistence and adaptability

Or
JMHHAY B A (b AR & U forfRay |
W_
¥F B Chi Bl T BRAT
¥F @ AT BT A <A
¥F B Al BT SAHA BRAT
33 B! URIET HaRAT Pl AL HRAI
T3 BT IR FRAT I |

o M 0N -~

Write the uses of rocket launcher during attack.
Answer-

1- Destroying enemy tanks

2- Responding to enemy artillery

3- To thwart the enemy’s fronts

4- Destroying the enemy’s transportation system
5- Harassing the enemy etc.
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Essay Type Questions

03x05=15

14

YR & IoadY el TS bl AT DHITTY |

W_

1. Isgafa

2. Bidwe &I Grefm afffa

3. e H#3A

4. e HATI— RefT faumT, el Scare favrT, Jem Ud ST

fovTeT, Aferes e faumT, d=1 Jrel &1 faumT anfe
A HARI (I, IR 3R AR & T |

Explain the higher defence organization of India.

Answer-

1- The President

2- Cabinet committee on security

3- Defence minister

4- Ministry of Defence- Dept. of Defence, Dept. of Defence
production, Dept. of Defence and Research, Dept. of Military
Affairs, Dept. of Military Welfare etc.

5- Head quarter of Armored forces (Army, Air force and Navy)

OR

I& ¥ U & g 1 [GRRYde auie BIfry |

w_

1. SRERI@r

2. wfdd Bl FAdegad

3. NA_IdT

4. |qEAMT

5. ofdd

6. forwerar

Describe in details the principle of administration in war.
Answer-

1-

Foresight
Economy of power
Simplicity
Collaboration
Flexibility
Neutrality

5
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15

YRAT qRAT @ [JHHT B [y Ud YR @1 fdager Hiforg |
-

‘ﬁ'@lwu_

. TIE dT SEHTA HRAT,

ufdreror faa=

Discuss the characteristics and types of service aircraft of Indian Air
Force.

Answer-

1- Reconnaissance and care

2- Mobility

3- Flexibility

4- Rescue

5- Penetration power

6- Concentration

Types of aircraft

1- Fighter aircraft

2- Bomber aircraft

3- Blocker Plane

4- Reconnaissance aircraft
5- Transportation

6- Training aircraft

OR

HRA a1 W1 DI W ARITSAT BT quie iy |
ITR—

1. BoligT UTgelc / HdnIex faqmT

2. WRMNIGHIT fovmT

3. WHifedha gonf—afT faamT

4. ofoiRee fovmT
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© N o o

INCIREGIN
3iaRer s fawmT
gferor favmT
e fawmT anfe |

Describe the major branches of Indian Air Force.
Answer-

1-

Flying pilot / Navigator branch
Administration branch
Aeronautical branch

Logistics branch

Education branch
Meteorological branch
Training branch

Maintenance branch etc.

16

JISHA DI AT 3R QTS BT gui HITY |
ITR—

SHl Pl gd1dC

ﬁ'@lwu_

Describe the characteristics and disadvantages of rifle.

.cn.h.w!v.—‘%.@.m.#.wwe

el

gedr

BIRIR il

[ERINEIRAERI

ARG &HAT

R &

3 ¥ foU oy R BRIR B H g
DH I DI BIRIR ETHAT

[T HH | BRI B | TR

DY U8R Afdd

Answer-

Rifle design
Characteristics
1- Security

2.
3-
4-

Endurance
Range of fire
Striking power

TR S O Al BT odhlae BT INfT |
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5- Range of action
6- Portability

Disadvantages

Unable to fire at the enemy hidden in cover

Short range fire capacity

Unable to functions in all weather conditions
Low striking power

Soldiers getting tired due to continuous lifting etc.

aprwbd =~

OR
Uedl FeIferds & |Rel &1 faxd 9uiF STy |
W_
gTTfole AT & |1
1. gUcferold Ha
2. W A
3. gRell R
4. ST gfeld HaeH
SCTferI 1 il
1. URINOII HHHI— Farey qReER Wi, Afedel wied, uRas
e |

2. WER® HHAI— HIfSTH A e, AR Wied, Rure
IS, QUE] < e, IR Wi |

3. 04 NIgHhel BEEH— HEAI IR, shd Wiicd, e,
g% 9 AifsTq #ef=T= gu |

Describe in details the structure of Infantry Battalion.
Answer-

Part of battalion headquarter

1- Intelligence section

2- Sniper section

3- Security section

4- Regiment police section

Companies of battalion

1- Administration company- Quarter master platoon, Medical
platoon, Transport platoon

2- Subsidiary company- MMG platoon, Mortar platoon, Signal
platoon, Anti tank platoon, Pioneer platoon.

3- 04 Rifle companies- Company headquarter, Rifle platoon,

Section, Rifle or MMG group.
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